
Integralrechnung – Grund- und Stammintegrale

∫ +
+

=
+

C
n
x

dxx
n

n

1

1

Cxdx
x

+=∫ ||ln
1

∫ += Cedxe xx

C
a

a
dxa

x
x +=∫ ln

Cxdxx +−=∫ cossin

Cxdxx +=∫ sincos

∫ += Cxdx
x

tan
cos

1
2

∫ +−= Cxdx
x

cot
sin

1
2





+−
+

=
−

∫
2

1

2 arccos

arcsin

1

1
Cx

Cx
dx

x





+−
+

=
+∫

2

1
2 arccot

arctan

1
1

Cx

Cx
dx

x

∫ += Cxxdx coshsinh

∫ += Cxxdx sinhcosh

∫ += Cxdx
x

tanh
cosh

1
2

∫ +−= Cxdx
x

coth
sinh

1
2

∫ +++=+=
+

CxxCxdx
x

1lnarsinh
1

1 2

2

∫ +−+=+=
−

CxxCxdx
x

1lnarcosh
1

1 2

2

∫


















>
<

+







−
+

⋅=+

+







−
+

⋅=+
=

− 1||

1||

1
1

ln
2
1

arcoth

1
1

ln
2
1

artanh

1
1

22

11

2 x

x
für

C
x
x

Cx

C
x
x

Cx
dx

x

Alexander Halles 2004


